

$$\underline{\underline{A, \Gamma \vdash \Delta, B}}$$

$$\Gamma \vdash \Delta, A \rightarrow B$$

$$\underline{\underline{\Gamma \vdash \Delta, A \quad \Gamma \vdash \Delta, B}}$$

$$\Gamma \vdash \Delta, A \wedge B$$

$$\underline{\underline{A, B, \Gamma \vdash \Delta}}$$

$$A \wedge B, \Gamma \vdash \Delta$$

$$\underline{\underline{\Gamma \vdash \Delta, A}}$$

$$\Gamma \vdash \Delta, \forall x A$$

$$\underline{\underline{\Gamma \vdash \Delta}}$$

$$\Gamma \vdash \Delta, \perp$$

$$A, \Gamma \vdash \Delta$$

$$B, \Gamma \vdash \Delta$$

$$\underline{\underline{A \vee B, \Gamma \vdash \Delta}}$$

$$(A, \Gamma) \vee (B, \Gamma)$$

$$A \begin{array}{c} \xleftarrow{F} \\ \xrightarrow{G} \end{array} B$$

$$\varphi_A : FGA \rightarrow A$$

$$\gamma_B : B \rightarrow GFB$$

triangular equations:

$$\begin{array}{c}
 FB \\
 \swarrow \\
 \widehat{FGFB} \\
 \downarrow \\
 FB
 \end{array}
 \quad
 \begin{array}{c}
 F\gamma_B \\
 \\
 \varphi_{FB}
 \end{array}$$

$$\begin{array}{c}
 GA \\
 \downarrow \\
 \widehat{GFGA} \\
 \downarrow \\
 GA
 \end{array}
 \quad
 \begin{array}{c}
 \gamma_{GA} \\
 \\
 G\varphi_A
 \end{array}$$

$$\varphi_{FB} \circ F\gamma_B = \mathbb{1}_{FB}$$

$$G\varphi_A \circ \gamma_{GA} = \mathbb{1}_{GA}$$

$$\text{Hom}_A(FB, A) \cong \text{Hom}_B(B, GA)$$

$$\text{Hom}(C, A) \times \text{Hom}(C, B) \cong \text{Hom}(C, A \times B)$$

$$\text{Hom}((C, C), (A, B))$$

$$\text{Hom}(A \times C, D) \cong \text{Hom}(C, D^A)$$

$$\begin{array}{ccc} & A \times - & \\ \mathcal{L} & \xleftarrow{\quad} & \mathcal{L}[x] \\ & \xrightarrow{H} & \\ & \xleftarrow{A} & \\ & - & \end{array} \quad x: T \rightarrow A$$

$$\begin{array}{ccccc} & A \times - & & H & \\ \mathcal{L} & \xleftarrow{\quad} & \mathcal{L}[x] & \xleftarrow{\quad} & \mathcal{L} \\ & \xrightarrow{H} & & \xrightarrow{\quad} & \\ & & & A & \\ & & & - & \end{array}$$

Lambek 1974

K.D. "Deductive completeness" BSL 1996

"Abstraction and application in adjunction"
(arXiv)